TLROEE SENESR
Er30FE3831 BERE
NPOENEBREFHHERT
(Bfr-m)
= B & =
I EEOSE
1 AE=EE
7 & B £ 43,008,985
By -3 & 30,240
OB = B 570,858
* g & 5,126,136
3 b= & 26,630
W O = OE & 48,762,849
. BESE
BHHEEE 1,929,428
= om OE & E 4
EEEUTRS 77,192
£ = * 2,000
BB ¥ T £ 3,472,005
FOhBEEREE 1,480,000
& E = E & 6,960,719
E & 3 55,723,568
I &&0E
| AEas
> # F 23,072,946
i | n & 543,643
RFEBEERS 494,000
" o® & & & & 24,110,589
=1 i & 3 24,110,589
I EXRBEDCH
BT R & ECRRE 26,182,137
L ERH EEEE 5,430,842
E % B E & ¥ 31,612,279
A EkEUCESBES H 55,723,568




